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i Attempt all 30 questions. Write your answers separately on the answer sheet to be provided at
the exam centre.
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2. Part ‘A’ contains 20 questions and each question in this part carries ‘Five marks’.
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3 Part ‘B’ contains 10 questions and each question in this part carries Ten marks’s
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4. Use of Calculator is Prohibited. Marks will be awarded fqr steps.
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6 The question paper can be retained by the candidates post exam./ GXII < dTg giEl e T BT o o
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~ PART A (20 x 5 = 100 MARKS)
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Q1 Jfx= (3) X (E) , Find the value of xz& —% (,,2_-> %
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Q.2 If 4x%+y? = 40and xy = 6ffind'the value Qﬁ‘)\ +y/afz 4x? + y? = 40 =7
xy = 6 a1 2x +y T AgSa g P

Q.3 Solve: / g FIL I U o @Q — A= '3'
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Q.4 How mahy prime numbers are giere up to 100? /100 7% T sramea wear T 7 > K

Q.5 Whatnumbef'sheuld béadded to 231228 to make it exactly divisible by 337
231228 & F1 AT TTA BT i 77 Fwar 33 & i Frrfm drom? D B

Q.6  Four bells begin to toll together and toll respectively at the intervals of 5, 6, 8 and
12 seconds. How many times will they toll together in an hour excluding the one
at the start? / =1 =fzat #9: 5, 6, 8 TAT 12 FFVZ F HATTA 77 T UF A7 AT 4% 2Id1 g1 TF 52
3wl e o AT A T D 3o Hmes,

Q.7 When a ball bounces, it rises to gof the height from which it fell. If the ball is
dropped from a height of 36m how much high will it rise at the third bounce?
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Q.8 Two numbers are in the ratio 3:5. If 9 is subtracted from each number, then they

are in the ratio of 12:23. What is the second number? / Zr 5w=rsit 7 #7149 3:5 &1 7f¥
AT HEAT & 9 w27 T AT A1 AT F AT 12:23 BT 81 g AW A0 FEw > B R
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In the given figure ABC is a straight line. What is the value of x.
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Q.10 How many 6m cubes can be cut from a cuboid measuring 36mx15mx8m.
36 H1.x15 #1.x8 Y. 17 71" wra & 6 WY =T AT BeAY T AT o7 TEY 22 > 20

Q.11. An equilateral triangle UVW is drawn inside a square STUV. What is the value of
£VSW? [ o mrwrarg Brgst UVW #t STUV a3 st wmam & | 57 372 LNSW ot 7 w71 f2oft
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Q.12. After allowing a discount of 11.11% a trader still make§¥a_gaidhof 14.28%. At

what percentage above the cost price does he marks{onfhis goods\} = aar 7=
11.11% 1 g2 37 9% ot UF =Y 14.28% F7 o1 97 707 g S ety ST 9T FT g |
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Q. 13. Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54./ 9=
T T T BIET FHEAT 5 FA0 A 16, 24 36 AE54 7 /WS SR 2 1 10368

Q14 ABC is a right-angled triangle with /ZBAC=90°. 4R=0A=0D=OF. EOICA and
DOIBC. Find 4x°. / ABC s fr<i@ Sm 2BAC=90°, AF=0A=0D=0F g | a1 EOIICA 3%
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Q. 15. A man buys drgf fruits at Rs 100, Rs 80 and Rs 60 per kilogram. He mixes them in
the'ratio 3:4: 5 byweight, and sells at a profit of 50%. At what price per kg does
he sell the dry fruits./ o s 100 =73, 80 =7 six 60 =T fa e % R & 3 g
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Q. 16. An express train travelling at 80 km /hr overtakes a goods train, twice as long and
going at 40 km/hr on a parallel track, in 54 sec. How long will the express train
take to cross a platform of 400m long./ 80 Rreitefter aft = £ wme & ey arelt v 3
UF HTATET AT 54 TR H At § o £y 3w & W A i wwiw 5 0w 40 Foreft wf =rer & =rer
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Find the area of the Shaded region in fig, if ABCD is a square of side 14 cm and
APB and CPD are semi-circles./smst % ¥aifa wrr #7 & stma ff5rm | ABCD v a4 2
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In a facfory the production rose to 48400 from 40000 in 2 year's. Find the rate of
growth per annum./ UF F7@m & 31 91 § IeqraT 48400 7 40000 9267 2 |22 A7
A F el g A0 Y

-Find out the numbers in the boxes./ @t ¥ 71 771 777 FfEm
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What number should replacethe question lgoﬁ\' !}/ FTAT #F qfeaeg 1 g srwm)
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PART B (10 x 10 = 100 MARKS)

A rectangular paper of44cm long and 6cm wide is rolled to form a cylinder of
height equal.to width of the paper. Find the volume of the cylinder.
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A railway ticket for a child costs half the full fare but the reservation charge is the
same on half tickets as much as on full ticket. One reserved a ticket for a journey
between two stations at Rs 362, one full and one half reserved tickets cost Rs 554.

What is the reservation charge?
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Q.23 There are two rooms A and B at a centre of RIMC entrance examination. If 19
candidates are sent from room A to room B, the number of candidates in each
room is the same. If 20 candidates are sent from room B to room A, the number of
candidates in A is double the number of candidates in B. Find the number of
candidates in rooms A and B. - ,4\-— oo, RB-8o.
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Q24 Find the lowest term of the expression / =g 7= 3177 ENE L
x?+8x+12 " x2+4x-12
X2-7x+12  x—4 %—P—l———’-
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Q.25 What price did Ram mark at the printed price of a bag purchased at Rs 380, so
that after giving 5% discount, there is 25% profit? / T uF g7 g fma
380 7 2, et oo sifihr % Rt 5% 7 g S 259 7 e .5 lele)

Q.26 If 3 men or 4 women can do a piece of work in 43 days diowdone Wwill 7 men and
5 women take to complete the same work? / 7% 3 4=+t a4 zﬁmﬁrﬂﬁg’b#wﬁﬁﬁ?f
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Q.27. The difference between the compound interest and simple intgrest on a certain
sum of money at 10% per annum for 2 years(is Rs'S 00. Fincgfthe sum when the

interest is compounded annually./ 2 == & R 3 a K@%ﬁ&amﬁwaﬁ%
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Q. 28. Length of a classroom is twice its heigshtand its breath is 1% times its height. The

cost of white washing the 04 walls.atithe rate(}cﬁ?s 1.60 per m? is Rs 179.20. Find
the cost of tiling floor at theffate 6f Rs 6.73f¢r m? ./ UF Fell 1+ It 9 6 &y
& off et AeTE S g 199 2004 RagPT 1,60 = SR A & < w0 6 s 179.20
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Q.29 A tank can be filled byytwo taps @d B in 12hrs and 16 hrs respectively: The full
tank can'be emptied byathirdsap in 8hrs. If all the taps are turned on at the
same time, in how much ting¢ will the empty tank be filled up completely?/ v ¥=
2T ARA A7 BT 12 Sl T F FEa T SATET 31 T & U Y 793 8 5 # arefy oy w7 aar
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Q.30 The following data relates to the cost of construction of a house.

Item/aeq Cement | Steel | Bricks | Timber | Labour |Miscellaneous
R & [R¥z |/ | /& |/ag |/%m | [a=
Expenditure/ &= | 30% 10% |10% . | 15% 25% 10%

Draw a pie-diagram to represent the above data [ 37 2 T ST Fr s R
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